KBS

ETSHE—HF (BT +=%5ENIERR)
EANENEEEEETES
(B) 264818 (Z) ©M343831H
(841 : A)
e LEERE(A) B RE(B) ER(A)-(B)
NIRRT 285, 696, 013 294, 337, 300 -8, 641, 287
FABAUEE RIS 216, 735, 688 229, 667, 310 -12,931, 622
SR RN 0 0 0
REBHINZ 0 0 0
BheSTIB RIS 0 0 0
| zmay -t 25BN 0 0 0
| SRR E BRI 0 0 0
9| |Emmgms 0 0 0
| |semmassmA 1,941,525 198, 706 1,742,819
Bl |[Esasmsmems 50, 000 50, 000 0
2| |(zofhourzs 0 0 0
sl [o-exFeumasEt (1) 504, 423, 226 524, 253, 316 =19, 830, 090
g |AFE 329, 633, 421 325, 893, 807 3,739, 614
8 E<E S| 95, 205, 294 98, 209, 475 -3,004, 181
ES 51,463, 143 54,331,535 2,868, 392
R |shexiEEzER 0 0 0
0| |EEEzsm 0 0 0
25| B\ FI A% S8R 0 0 0
A | RN e 61,713, 355 61,458, 998 254, 357
BRSBTS -36, 555, 628 -36, 533, 370 -22. 258
BUNREEEE 0 0 0
BUNTEES LR 0 0 0
ZOfhOBE R 0 0 0
Y-EXEBERET (2) 501, 459, 585 503, 360, 445 -1, 900, 860
H_CARBNEREE (3) = (1) — (2) 2,963, 641 20, 892, 871 =17, 929, 230
EASF SHIEINGS 0 0 0
ZEG AT RIS 4,688 3,731 957
BT TS 0 0 0
BT 5sA2s 0 0 0
Y| IR s e i 25 A2 0 0 0
|| 2| s s ssaas 0 0 0
B |ExpETms 0 0 0
z|  |ErEErms 0 0 0
= |zofboy—tRESSMRES 1,403, 064 1,307, 805 95, 259
g| | —CXEBIMRGSEL (4) 1,407, 752 1,311, 536 96, 216
o [EAE 4,910, 497 4,992, 589 82,092
| |EMEESIHEA 0 0 0
Bl | B 0 0 0
| g | 1% RS 55 SR 0 0 0
0| | REBIHEESFHR 0 0 0
ap| " | EABARE SIS 0 0 0
T B 0 0 0
ZOfhDY—EEEIIEEFR 787, 886 896, 524 -108, 638
Y- EENSIER (5) 5. 698, 383 5 889,113 190, 730
Y CARBINEREE (6) = (4) — (5) —4, 290, 631 —4,577,571 286, 946
REERERE (7)) = (3) + (6) -1, 326, 990 16, 315, 294 -17,642, 284
M RS RAEINGS 75, 884, 000 0 75, 884, 000
MR RS M IR 0 0 0
EIERELEBASTRNESH SIS 0 0 0
| me arsma 132,825 0 132, 825
| BB 0 0 0
| [P-ERESBERA LI 0 0 0
o [EOACRRIRS 0 0 0
ERIIRZEEt (8) 76, 016, 825 0 76,016, 825
B [=xamEAE 0 0 0
| |EEmE 0 0 0
o| |BraEsme-nsE 145, 843 24 145,819
| o| EEHBYESISRIE ISR (%) -71,040 0 -71, 040
% EE# S RIE I STETEE 72,834, 420 0 72,834,420
PE=ES 0 0 0
Y—EAXS B A DL 0 0 0
ZOMOIERIIEL 0 0 0
ERIZEFAE (9) 72, 909, 223 24 72,909, 199
RIS (10) = (8) — (9) 3,107, 602 24 3,107, 626
CHREBIERELE (11) = (7) + (10) 1,780, 612 16, 315, 270 14, 534, 653
[ BiRE R BN RS (1 2) 81,509, 348 75,194, 078 6,315, 270
o [ gk EE e (13) = (11) + (12) 83, 289, 960 91, 509, 348 =8, 219, 388
o [EASEELE (14) 0 0 0
2 [zofthomE TS EE%E (15) 0 0 0
= (2O £HETEE (16) 0 10, 000, 000 =10, 000, 000
289, 960 81, 509, 348 1,780, 612

RERIRBEBMERERE (17) = (13) + (14) + (15) - (116% 83,




